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QUESTION 1

Which two types of applications benefit from using JavaServer Faces (JSF)?

A. An application with a customizable Ul skin

B. An application that implements access control on each action based on user role.

C. An application in which type conversion of the values of Ul components is implemented only in Java classes.
D. An application that sets specific database validation listeners on a Ul component

Correct Answer: CD

QUESTION 2

You are the lead technical designer for a new B2C retail application. A key goal is to minimize design and build
complexity in order to maximize speed to market.

Which three features of JPA make it the most appropriate technology to use in building the persistence layer of the
application?

100% Real QandAs | 100% Real Pass

A. JPA ensures thread safe semantics

B. JPA ensures optimal database access logic
C. JPA does not require an FJB container

D. JPA provides vendor-neutral database access
E. JPA provides ACID semantics

F. JPA provides transparent scalability

Correct Answer: CDE

QUESTION 3

Which two are primary concerns for a service-oriented architecture (SOA)?
A. Low cohesion

B. Loose coupling

C. Session handling

D. Well defined contracts

Correct Answer: BD
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QUESTION 4

What are two consequences of using the Composite View pattern?
A. Improves performance

B. Avoids duplicate content

C. Forces a whole-part dependency

D. Allows tables to be reused in multiple locations

E. Restricts all sub views to have a consistent view technology

Correct Answer: BD

QUESTION 5

You have been recruited by an online retailer of footwear to conduct a review of their online systems. Your primary
Finding is that the development team has implemented duplicated complex business logic as Java scripts directly into
the JSPs, causing performance, scalability, and maintainability issues.

Which two design patterns would you select to improve the current code base?

A. View Helper

B. From Controller

C. Composite View

D. Service-to-Worker

E. Business Delegate

Correct Answer: BD
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